7 CFR 1951-E, "Servicing of Community and Direct Business Programs Loans and Grants"

•	•	-	•	
7 CFR 1951-	E, Servicing of C	Community and Direct I	Business Programs Loans and Grants	5

Section of				Reports	Total Annual	Est. No. of	Est. Total		Total
Regulation		Form No.	Est. No. of	Filed	Responses	Man hours	Man-hours	Wage	Cost
	Title	(if Any)	Respondents	Annually	(D) x (E)	Per Response	(F) x (G)	Class	(H) x (I)
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(I)	(J)

REPORTING REQUIREMENTS FORMS APPROVED WITH THIS DOCKET

				1					
		RD-1951-33							
1951.223 (b)(4)	Reamortization Request	(0575-0066)							
	RHS - CF		5	1	5	0.25	1	47	\$59
	RBS - B&I Direct		5	1	5	0.25	1	62	\$78
1951.230 (c)(1)	Community Programs Assumption Agreement	RD-1951-15 (0575-0066)							
	RHS - CF		5	1	5	0.5	3	47	\$118
	RBS - B&I Direct		2	1	2	0.5	1	62	\$62
1951.242(b) & (d)(3)(ii)	Workout Agreement	RD-1951-10 (0575-0066)							
	RHS - CF		90	1	90	3	270	47	\$12,200
1951.222 (c)(1) 1951.224 (b)(6) 1951.226 (c)(1) (vi)	Application for Partial Release, Subordination, or Consent	RD-465-1 (0575-0066)							
	RHS-CF		10	1	10	1	10	47	\$470
	RBS - B&I Direct		0		0		0		\$0
	Subtotal:				117		286		<mark>\$12,987</mark>
	REPORTING REQUI	DEMENTS							
1951.222 (c)(2)				S APPRO					
1951.222 (0)(2)	Balance Sheet	1							<u> </u>
	RHS - CF		30	1	30	1	30	47	\$1,410
	RBS - B&I Direct		12	1	12	1	12	62	\$744
1951.223 (c)(3) & (4)	New Debt Instrument								
	RHS - CF		33	1	33	1	33	47	\$1,551
	RBS - B&I Direct		1	1	1	1	1	62	\$62
						L			
1951.223 (c)(4)(ii) & Exhibit H	Rescheduling Agreement								
	RHS - CF		4	1	4	1	4	47	\$188
								· · · · · · · · · · · · · · · · · · ·	\$248

Section of				Reports	Total Annual	Est. No. of	Est. Total		Total
Regulation	Title	Form No.	Est. No. of Respondents	Filed	Responses (D) x (E)	Man hours	Man-hours	Wage	Cost (H) x (I)
		(if Any)		Annually		Per Response	(F) x (G)	Class	
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(I)	(J)
	1								
1951.223(c)(2) & (4)	Legal Opinions for above 2								
	RHS - CF		32	1	32	2	64	47	\$3,008
	RBS - B& I Direct		2	1	2	2	4	62	\$248
1951.223 (c)(3) & (4)	New Debt Instrument								
	RHS - CF		33	1	33	1	33	47	\$1,551
	RBS - B&I Direct		1	1	1	1	1	62	\$62
1951.223 (c)(4)(ii) & Exhibit H	Rescheduling Agreement								
	RHS - CF		4	1	4	1	4	47	\$188
	RBS - B&I Direct		4	1	4	1	4	62	\$248
1951.223(c)(2) & (4)	Legal Opinions for above 2								
	RHS - CF		32	1	32	2	64	47	\$3,008
	RBS - B& I Direct		2	1	2	2	4	62	\$248
1951.230 (a)(9)	Credit Report								
	RHS - CF		10	1	10	0.5	5	47	\$235
	RBS - B&I Direct		2	1	2	0.5	1	62	\$62
1951.241 (b)(1) & Exhibit G	Change Interest Rate								
	RHS - CF		0		0		0	0	\$0
	RBS - B&I Direct		10	1	10	0.5	5	62	\$310
1951.242 (c)	Financial Statements								
	RHS - CF		90	11	990	0.5	495	47	\$24,245
SUBTOTAL					1,206		768		\$37,616
ESTIMATED TOTAL FO THIS COLLECTION	R		102		1,323		1,054		\$50,603
FORM	S APPROVED UNDER C	THER ON	IB NUMBERS				0		

7 CFR 1951-E, "Servicing of Community and Direct Business Programs Loans and Grants"

Section of				Reports	Total Annual	Est. No. of	Est. Total		Total
Regulation		Form No.	Est. No. of	Filed	Responses	Man hours	Man-hours	Wage	Cost
	Title	(if Any)	Respondents	Annually	(D) x (E)	Per Response	(F) x (G)	Class	(H) x (I)
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(I)	(J)
1951.226 (b)(4) (i) 1951.230(a) (7)	Assurance Agreement	400-4							
	RHS-CF	0575-0018	8	1	8	0.25	0	0	\$0

Section of				Reports	Total Annual	Est. No. of	Est. Total		Total
Regulation		Form No.	Est. No. of	Filed	Responses	Man hours	Man-hours	Wage	Cost
	Title	(if Any)	Respondents	Annually	(D) x (E)	Per Response	(F) x (G)	Class	(H) x (I)
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(I)	(J)
	RBS - B&I Direct		0		0		0		\$0
1951.230 (d)(5)	Transfer of Real Estate Security	465-5 0560-0236					0		
	RHS-CF		7	1	7	0.5	4	47	\$188
	RBS - B&I Direct		0		0		0		\$0
1951.223 (b)(1) 1951.230 (a)(9)	Statement of Budget, Income, and Equity	442-2 0575-0015							
	RHS-CF		30	1	30	2.5	75	47	\$3,525
	RBS - B&I Direct		12	1	12	2.5	30	62	\$1,860
1951.230 (a)(9)	Balance Sheet	442-3 0575-0015							
	RHS-CF		30	1	30	1	30	47	\$1,410
	RBS - B&I Direct		12	1	12	1	12	62	\$744
1951.230 (f)(2)	Letter of Intent to Meet Conditions	1942-46 0575-0015							
	RHS-CF		8	1	8	1	8	0	\$0
	RBS - B&I Direct		0		0		0		\$0
1951.222 (c)(3)	Operating Budget	442-7 0575-0015							
	RHS-CF		30	1	30	5	150	0	\$0
	RBS - B&I Direct		0		0		0		\$0
ESTIMATED TOTA	L	1			137		309		\$7,727